107.12. 11

» A BB ERBRA R
A AT E SRR ET > p10TEL2Y 1TP (AW - DA v R P RE~HAKE
FhR
B |z #P LA % 3y REHKE | SRR %3
2 C AR | B B~ (-) - 12-14 ATB0504 o 1 i 2
4 [F AR R R 02 (33 - 10-11 ATB0202 * ;‘fj:ﬁ
5 Rw @ fH- © B g (74 3T 13-14 ATB0302 o BER
9 ‘w ?fH- B~ (-) 10-12 ATB0204 5 EF
11 |re 2o ® AR 10-12 4 i
17 Rrpig- " EWPER U 4 13-14 ATB0503 X A
30 (ER S g (GL) 10-11 ATB0304 My g
32 rr TPz " kg (L) - 13-14 ATB0304 My 4




P eH % 3 N RPHFE | BEKEF o %
Rw T H - ek A - ATB0201 5 v 3 T
R T H - R T ERACE ) - ATB0403 b ke
R HE P E - ATB0202 (- BT
AL g EE () - ATB0402 AR B W
REEME- T b E T - ATB0203 AT S MA& K
Bfadis - ATB0303 FlF A e
RepfE- " B~ (=) - ATB0503 T o w
- v |2 REnRBREQ®) | = ATB0504 HT B TR L
TERE = ATB0204 Mt B 4@k
w B (-) = ATB0402 med % Wae
= FELE ki = ATB0402 ¥ %4 TF AR




Bo|FLE PP EH LE)) & = R ERR | kKR ¥ %3
29 Rr R - F(-) = 13-14 ATB0102 U 4E T g N 12
31 |Reg@-® TRE() = 10-12 ATB0304 AL C
39 R T H " W41 B = 10-12 ATB0201 L WL
48 C Sl B (-) = 10-12 ATB0303 sﬁ‘fs@?]%j% e
7 (ER- I R (=) = 13-14 ATB0301 R e B §m
10 (ER-I R HeAg ~ (=) = 10-12 ATB0301 S RE e
12 R 1 A = 12-14 ATB0203 HE L
13 (ER-I e EH (L E) = 10-11 ATB0204 Z4 2 ke
14 (ER-I I e EHGLE) = 13-14 ATB0204 242 WAk o
15 Rw dfme B R 7 RIREE (- ) = 10-12 ATB0302 B EF Bk
21 |repg-" Frpgat g (L aY) = 10-11 ATB0502 B g T L




L S

2%

R FRE

==

22

It

10-12

ATB0404

4o

27

It

10-12

ATB0303

4o
no
juid

{

35

Ji

10-12

ATB0201

40

R

Jit

10-12

ATB0202

—

45

It

13-14

ATB0502

52

i

I

12-13

ATB0202

b

B g

%)

12-14

ATB0301

16

<
[t

k3
=N
i
e

%)

10-12

ATB0204

18

).“J
N
—F
c

Vel

|1

13

ATB0503

20

At A

|1

10-12

ATB0503

#
(i%

hac

28

Hefh (=)

|1

10-12

ATB0303




F #B e 25 & =% REFRE | BFKEF g A3

43 Ay I 12-14 ATB0201 MU M &

44 BV B 5 (L3 I 10-11 ATB0201 # AR T LY

50 (T - 4 Ak A I 10-11 ATD0402 ER P | s AATD0402
51 (WTH- 4 B2 (-) I 12-14 ATD0402 Pl 2 e o | s AATD0402
1 e v 2ol ® 9-10 ATB0201 e FrY e

23 BB % GE ) ® 11-12 ATB0501 ERLE ;] T L

25 A~ (=) ® 12-14 ATB0101 F 0 T L

33 WA b2 11-13 ATB0304 FEcEk A

37 |rm e T |F2EHERY () = 11 ATB0201 72 #roows

46 B » 2-4 ATB0403 PR3 e

AT B AR » 5-6 ATB0403 L #rdw




LB PP LR % 3 &= R kkr | ik ' iz
i e 2




